(ﬁ Why does a weak signal terminal connected to the same AP cause the neg
otiation rate between other clients and the AP to be low?
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Problem Description

null

Solution

A weak signal client is connected to the same AP. Since the AP works in half-duplex mode, it can onl
y receive or send messages at the same time. At this time, a portion of the time will be allocated to w
eak signal clients, occupying a large amount of air interface resources. So we can enable Low rate pr
ohibited access: [AC_02-wlan-rrm]dot11g disabled-rate 126 9


https://zhiliao.h3c.com/questions/catesDis/1534
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